
ARE

 PROVISIONAL ANSWER KEY  (CBRT)
Name of The Post Chemist, in Gujarat Mining Service under the Commissionerate of 

Geology and Mining Class-1

Advertisement No 
Preliminary Test Held On 
Que. No. 
Publish Date 

126/2019-20[1-100 General Studies (ARF)+Concern Subject 101-300 (ARE)]

06-02-2021 
001-300 
08-02-2021

Last Date to Send Suggestion (S)     16-02 -2021  

Instructions / સૂચના
Candidate must ensure compliance to the instructions mentioned below, else objections 
shall not be considered: - 
(1) All the suggestion should be submitted in prescribed format of suggestion sheet Physically. 
(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet) 

published on the website. 
(3) All suggestions are to be submitted with reference to the Master Question Paper with 

provisional answer key (Master Question Paper), published herewith on the website. 
Objections should be sent referring to the Question, Question No. & options of the Master 
Question Paper.  

(4) Suggestions regarding question nos. and options other than provisional answer key (Master 
Question Paper) shall not be considered. 
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ઉમેદવાર ેનીચેની સૂચનાઓનંુ પાલન કરવાની તકેદારી રાખવી, અլયથા વાંધા-સૂચન અંગ ેકરલે રજૂઆતો իયાને
લેવાશે નહી ં

(1) ઉમેદવાર ે વાધંા-સચૂનો િનયત કરવામાં આવેલ વાંધા-સૂચન પԋકથી રજૂ કરવાના રહેશે.

(2) ઉમેદવાર ે ԐՇԐમાણે વાધંા-સચૂનો રજૂ કરવા વેબસાઈટ પર Ԑિસիધ થયેલ િનયત વાંધા-સૂચન પԋકના નમૂનાનો જ
ઉપયોગ કરવો.

(3) ઉમેદવાર ેપોતાન ેપરીԟામા ંમળેલ ԐՇપુિչતકામા ંછપાયેલ ԐՇԃમાંક મુજબ વાંધા-સૂચનો રજૂ ન કરતા તમામ વાંધા-
સૂચનો વેબસાઈટ પર Ԑિસիધ થયેલ Ԑોિવઝનલ આլસર કી (માչટર ԐՇપԋ)ના ԐՇ ԃમાંક મુજબ અન ેતે સંદભӪમાં
રજૂ કરવા.

(4) માչટર ԐՇપԋ મા ંિનિદӪ Ջ ԐՇ અને િવકճપ િસવાયના વાંધા-સચૂન իયાન ેલેવામાં આવશ ેનહી.ં 

(5) ઉમેદવાર ેજ ેԐՇના િવકճપ પર વાંધો રજૂ કરલે છે અન ેિવકճપ ԁપ ેજ ેજવાબ સચૂવેલ છે એ જવાબ ઉમેદવાર ેપોતાની
ઉԱરવહીમા ંઆપેલ હોવો જોઈએ. ઉમેદવાર ેસચૂવેલ જવાબ અને ઉԱરવહીનો જવાબ િભՂ હશ ેતો ઉમેદવાર ેરજૂ
કરલે વાંધા-સચૂન իયાનમા ંલેવાશ ેનહી.ં 

(6) એક ԐՇ માટ ેએક જ વાંધા-સૂચન પԋક વાપરવુ.ં એક જ વાંધા-સૂચન પԋકમાં એકથી વધાર ેԐՇોની રજૂઆત કરેલ

હશે તો તે અંગેના વાધંા-સચૂનો իયાને લેવાશે નહી.ં
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001. MknÞkÿe Ãkðoík{k¤kLku çkeò fÞk Lkk{Úke Ãký yku¤¾ðk{kt ykðu Au ?
(A) ÷kuyh rn{k÷Þ (Lower Himalayas) (B) þeðk÷efMk Ãkðoíkku (Shivaliks Hills)

(C) Ãkrù{ ½kx (Western ghats) (D) ÃkqðeoÞ ½kx (Eastern ghats)

002. “Ãkku÷kðh{T «kusuõx” (Polavaram Project) fÞk hkßÞ{kt ykðu÷ Au ?
(A) {æÞ «Ëuþ (B) økwshkík
(C) yktÄú «Ëuþ (D) fLkkoxf

003. Akuxk LkkøkÃkwhLkku Wå[ MkÃkkx «Ëuþ fÞk fkhýMkh rðï «ÏÞkík Au ?
(A) ÍkzÃkkLk yLku «krýMk]rü (B) ¾rLks MktÃk¥ke
(C) «ðkMkLk MÚk¤ (D) LkËeykuLkku Mktøk{

004. Äe Whe zp{ (The Uri Dam) fE LkËe WÃkh çkktÄðk{kt ykðu÷ Au ?
(A) çkeÞkMk LkËe (Beas River) (B) [eLkkçk LkËe (Chenab River)

(C) hðe LkËe (Ravi River) (D) Íu÷{ LkËe (Jhelam River)

005. økwshkíkLkk ík¤kðku yLku íkuLkk MÚkkLkLkk òuzfk økkuXðku.
1. Äku¤fk a. n{ehMkh ík¤kð
2. rðh{økk{ b. {÷kð ík¤kð
3. Ãkkxý c. {wLkMkh ík¤kð
4. ¼ws d. MknMºk®÷øk ík¤kð
(A) 1 - b, 2 - c, 3 - d, 4 - a (B) 1 - c, 2 - d, 3 - a, 4 - b
(C) 1 - d, 2 - a, 3 - b, 4 - c (D) 1 - a, 2 - b, 3 - c, 4 - d

006. økwshkíkLkk fÞk SÕ÷kyku{kt Mkkûkhíkk Ëh (Literacy Rate) MkkiÚke ðÄkhu yLku MkkiÚke ykuAku Au ?
(A) LkðMkkhe yLku ËknkuË (B) Mkwhík yLku ËknkuË
(C) LkðMkkhe yLku zktøk (D) Mkwhík yLku fåA

007. økwshkík hkßÞ{kt ðMíke øke[íkk{kt (yuf [kuhMk rf{e{kt ðMíke) MkkiÚke øke[ fÞk SÕ÷kyku Au ?
(A) LkðMkkhe, økktÄeLkøkh, Mkwhík (B) y{ËkðkË, Mkwhík, økktÄeLkøkh
(C) Mkwhík, ykýtË yLku y{ËkðkË (D) Mkwhík, y{ËkðkË yLku ykýtË

008. Lke[uLkk Ãkife fE LkËeyku rn{k÷Þ{ktÚke Lkef¤íke LkËeyku Au ?
1. ®MkÄw 2. øktøkk        3. çkúBnÃkwºkk        4. {nk{Ëe
(A) 1, 2 yLku 3 (B) 1, 2 yLku 4
(C) 2, 3 yLku 4 (D) 1, 2, 3 yLku 4

009. ¼khíkLkk f]rºk{ Mkhkuðhku yLku MkçktÄeík LkËeykuLke òuzeyku Ãkife fE òuze ÞkuøÞ LkÚke ?
(A) Mkík÷ws LkËe – økku®ðË Mkkøkh (B) f]»ýk LkËe – LkkøkkswoLk Mkkøkh
(C) {ktshk LkËe – rLkÍk{ Mkkøkh (D) [tçk÷ LkËe – ELËehk Mkkøkh

010. hk»xÙeÞ WãkLk yLku hkßÞ/fuLÿ þkMkeík «Ëuþ ÞkuøÞ heíku økkuXðku.
1. fkLnk a. økwshkík
2. ðu¤kðËh b. hksMÚkkLk
3. fuð÷kËuð c. sB{w yLku f~{eh
4. Ër[økk{ d. {æÞ «Ëuþ
(A) 1 - a, 2 - b, 3 - c, 4 - d (B) 1 - d, 2 - a, 3 - b, 4 - c
(C) 1 - b, 2 - c, 3 - d, 4 - a (D) 1 - c, 2 - d, 3 - a, 4 - b
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011. ¼khík yLku økwshkíkLkku [kEÕz MkuõMk huþeÞku (0 Úke 6 ð»ko) fux÷ku Au ? (MkuLMkMk 2011 yLkwMkkh)

(A) 819 yLku 980 (B) 919 yLku 890

(C) 719 yLku 790 (D) 819 yLku 790

012. ¼khíkLkk Lk]íÞku yLku íkuLkk MkçktÄeík hkßÞkuLku ÞkuøÞ heíku økkuXðku.

1. fuh¤k a. fq[eÃkqze

2. íkkr{÷Lkkzw b. ¼hík Lkkxâ{

3. yktÄú «Ëuþ c. ykusÃkk÷e

4. yMk{ d. {kurnLke yè{
(A) 1 - d, 2 - b, 3 - a, 4 - c (B) 1 - b, 2 - a, 3 - c, 4 - d
(C) 1 - a, 2 - c, 3 - d, 4 - b (D) 1 - c, 2 - d, 3 - b, 4 - a

013. “Yík Lkk[” (Rout Nacha) yu fÞk hkßÞLkk ykrËòrík Mk{wËkÞkuLkwt {wÏÞ Lk]íÞ Au ?

(A) hksMÚkkLk (B) ykMkk{

(C) {u½k÷Þ (D) A¥keMkøkZ

014. “MkLkÚkkhk” (Santhara) fu fÞk Ä{oLke ÄkŠ{f rðrÄ Au ?

(A) rnLËw Ä{o (B) siLk Ä{o

(C) çkwØ Ä{o (D) EM÷k{ Ä{o

015. “ËuðLke {kuhe” (Devni Mori) MíkwÃk fÞk hkßÞ{kt ykðu÷ Au ?

(A) {æÞ «Ëuþ (B) økwshkík

(C) fLkkoxf (D) yktÄú «Ëuþ

016. 1. Xw{he (Thumri)      2. íkhkLkk (Tarana)      3. {÷fkhxk (Melakarta)

4. ¾Þk÷ (Khayal)      5. økÍ÷ (Ghazal)

WÃkhkuõík Ãkife økkÞLkLke fE ÃkØíke rnLËwMíkkLke þkMºkeÞ ÃkØíke Au ?

(A) 1, 2, 3 yLku 4 (B) 1, 2, 3, 4 yLku 5

(C) 1, 2, 4 yLku 5 (D) 2, 3, 4 yLku 5

017. 19{e MkËe{kt, Lke[uLkk Ãkife fE r[ºkf÷k (Painting Style) ÃkØíkeLkku rðfkMk ÚkÞu÷ Au ?

(A) Ãknkhe (Pahari) (B) fktøkhk (Kangra)

(C) hksÃkwík (Rajput) (D) fk÷e½kx (Kalighat)

018. Lke[uLkk Ãkife fÞku íknuðkh/íknuðkhku “÷ýýeLkku íknuðkh” (Harvest Festival) Au ?

(A) ðiþk¾e (Vaisakhi) (B) ÷kuMkkh (Losar)

(C) rðþw (Vishu) (D) WÃkhkuõík çkÄks íknuðkhku

019. rnLËeLkk frðyku yLku íkuykuLke f]ríkykuLke òuzeyku Ãkife fE òuze ÞkuøÞ LkÚke ?

(A) ©e {Ï¾Lk÷k÷ [íkwðuoËe – rn{ íkhtøkeýe (B) ©e {iÚke÷eþhý økwÃík – Mkkfuík

(C) ©e nheðtþ hkÞ çkå[Lk – {Äwþk÷k (D) {kLk. {nkËuðe ð{ko – ðeýk økútrÚk

020. “çkeòÃkwh” (Bijapur) þkLkk {kxu «ÏÞkík Au ?

(A) økku¤ økwtçks (Gol Gumbaz) (B) ¾wçk ðhMkkË

(C) økku{xuïhLkk {trËh {kxu (D) yx÷k {MSË (Atala Masjid)
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021. Lke[uLkk Ãkife fÞk {trËhLku ç÷uf Ãkuøkkuzk (Black Pagoda) íkhefu Ãký yku¤¾ðk{kt ykðu Au ?

(A) çkúeÄuïh {trËh (Brihadeesware Temple) – íkkòuh

(B) MkqÞo {trËh (Sun Temple) – fkuLkkfo

(C) ÷kuzo søkLkkÚk {trËh (Lord Jannath Temple) – Ãkwhe

(D) {eLkkûke {trËh (Meenakshi Temple) – {ËwhkE

022. økwshkíke ¼k»kkLkk frð©e, íku{Lkk ÷u¾LkLkk «fkhLke òuzeyku Ãkife fE òuze ÞkuøÞ LkÚke ?

(A) frð©e Lkh®Mkn {nuíkk – Mktíkku y{u hu ðnuðkrhÞk – ÃkË

(B) «u{kLktË – økkuðÄoLk røkrhÄkhý – ykÏÞkLk

(C) Íðuh [tË {u½kýe – Þk[Lkk – økeík

(D) Ëk{kuËh çkkuxkËhfh – çkkuÄ – økÍ÷

023. ÷u¾f yLku íkuyku îkhk Ëþkoðu÷ ÃkkºkLke òuzeyku Ãkife fE òuzeyku ÞkuøÞ Au ?

1. Ë÷Ãkíkhk{ – Sðhk{ ¼è

2. økw÷kçkËkMk – hkð Mkknuçk {nuíkk

3. fLkiÞk÷k÷ {wLkþe – {wtò÷

4. økkihe þtfh økkuðÄoLkhk{ òu»ke – h{Íw {eh

(A) 1, 2, 3 yLku 4 (B) 1, 3 yLku 4

(C) 2, 3 yLku 4 (D) 1, 2 yLku 3

024. ÄkŠ{f yLku Mkk{krsf òøk]ríkLkk ûkuºk{kt Mk{ks MkwÄkhf yLku íkuykuLkk fkÞoLke, òuzeyku Ãkife fE òuze ÞkuøÞ LkÚke ?

(A) hkò hk{ {kunLk hkÞ – çkúBnku Mk{ksLke MÚkkÃkLkk, Mkíke «ÚkkLkk rðYØ{kt Ítçkuþ

(B) ËÞkLktË MkhMðíke – ykÞo Mk{ksLke MÚkkÃkLkk þwrØ [¤ð¤

(C) Mðk{e rððufkLktË – hk{f]»ý r{þLkLke MÚkkÃkLkk sLkMkuðk yus «¼w Mkuðk

(D) X¬h çkkÃkk – fLÞkþk¤k yLku rðÄðkykuLkk ÃkwLko÷øLkLkk fkÞo{kt {ËË

025. 1. Ãkkuxwoøk÷ ËuþLkk hnuðkMke ðkMfku-Ë-økk{k ¼khík ykððkLkku s¤{køko þkuÄLkkh «Úk{ ÔÞÂõík níkku.

2. MkLku 1608{kt «Úk{ ytøkúus ðnký Mkwhík çktËhu Ãknku[u÷ níkw.

3. E. Mk. 1757{kt Ã÷kMkeLkw ÞwØ ÚkÞu÷ níkw yLku ytøkúuòuyu ËøkkÚke rMkhks-WË-Ëki÷kLku nhkðeLku íkuLkw ¾wLk fhu÷ níkw.

WÃkhkuõík Ãkife fÞk ðkõÞku ÞkuøÞ Au ?

(A) 1, 2 yLku 3 çkÄks ðkõÞku ÞkuøÞ Au. (B) 1 yLku 2 ðkõÞku ÞkuøÞ Au.

(C) 1 yLku 3 ðkõÞku ÞkuøÞ Au. (D) 2 yLku 3 ðkõÞku ÞkuøÞ Au.

026. Lke[uLkk ðkõÞku Ãkife fÞw ðkõÞ ÞkuøÞ LkÚke ?

(A) ©e {tøk÷ Ãkktzu 1857Lkk Mktøkúk{Lkk «Úk{ þneË níkk.

(B) rËÕne ¾kíku çknkËwhþkn sVh yLku fkLkÃkwh{kt Ãkuïk LkkLkkMkknuçk {wÏÞ MkwºkÄkh níkk.

(C) økwshkík{kt y{ËkðkË, ËknkuË, Ík÷kuË, økkuÄhk, ¾uzk SÕ÷ku yLku yLÞ MÚk¤kuyu Mktøkúk{ þY fhu÷ níkku.

(D) yíÞkh{kt {nkhk»xÙ hkßÞ{kt Mktøkúk{{kt fkuEÃký hkßÞku, þnuhkuyu, økk{zkykuyu ¼køk ÷eÄu÷ Lk níkku.
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027. Lke[uLkk ÃkifeLkk ðkõÞku [fkMkku.

1. E.Mk. 1527{kt hkýk Mktøk MkkÚku çkkçkhLkwt ÞwØ ÚkÞu÷ níkw yLku yk ÞwØ{kt hkýk MktøkLkku rðsÞ ÚkÞu÷ níkku.

2. þuhþknLke Mkk{u nw{kÞwLkku çku ð¾ík ÃkhksÞ ÚkÞu÷ níkku yLku 15 ð»ko MkwÄe hÍ¤Ãkkx fhðe Ãkzu÷ níke.

(A) «Úk{ ðkõÞ ÞkuøÞ Au. (B) çkeòw ðkõÞ ÞkuøÞ Au.

(C) yuf yLku çku çkLLku ðkõÞku ÞkuøÞ Au. (D) yuf yLku çku çkLLku ðkõÞku ÞkuøÞ LkÚke.

028. yfçkhLkk ËhçkkhLkk híLkku yLku íkuykuLke fk{økehe ytøkuLke òuzeykuLku ÞkuøÞ heíku òuzku.

1. {nuMkq÷ rLk»ýkík a. {nuþ ËkMk rçkhçk÷

2. ËûkMkuLkk yæÞûk b. yçkw÷ VÍ÷

3. EríknkMk ÷u¾f c. hkò {kLk®Mkn

4. nksh sðkçke d. ËeðkLk xkuzh{÷
(A) 1 - a, 2 - d, 3 - c, 4 - b (B) 1 - b, 2 - a, 3 - d, 4 - c
(C) 1 - d, 2 - c, 3 - b, 4 - a (D) 1 - c, 2 - b, 3 - a, 4 - d

029. 1. økwshkík{kt MkþMºk ¢ktríkLke ¼qr{fk íkiÞkh fhLkkh Mkki «Úk{ Lkuíkk ©e yh®ðË ½ku»k níkk.

2. ©e çkkheLÿfw{kh ½ku»kLku ¢ktríkfkhe [¤ð¤{kt {ËË fhðk ©e Akuxw¼kE yLku ytçkw¼kE Ãkwhkýe {n¥ðLkk MkkÚkeyku níkk.

3. y{ËkðkË ¾kíku hkÞÃkwh Ëhðkò çknkh ðkEMkhkpÞ r{LxkuLke çkøke Ãkh çkkpBçk Lkk¾ðkLkku çkLkkð çkLku÷ níkku.

WÃkhLkk ðkõÞku [fkMkku.

(A) 1 yLku 2 ÞkuøÞ Au. (B) 2 yLku 3 ÞkuøÞ Au.

(C) 1 yLku 3 ÞkuøÞ Au. (D) 1, 2 yLku 2 ÞkuøÞ Au.

030. Lke[uLkk Ãkife fÞw ðkõÞ ÞkuøÞ LkÚke ?

(A) E.Mk. 1905{kt çktøkk¤ «ktíkLkk ¼køk÷kLkku y{÷ fhðk{kt ykðu÷ Au.

(B) E.Mk. 1909{kt {ku÷uo-r{LxkuLkk MkwÄkhkyku Ëk¾÷ fhu÷ níkk.

(C) E.Mk. 1919{kt hkp÷ux yuõx ½ze fkZðk{kt ykðu÷ níkku.

(D) 13{e yur«÷ 1920Lkk hkus sr÷Þkðk÷k çkkøkLkku níÞkfktz ÚkÞu÷ níkku.

031. Lke[uLkk Ãkife fE ÔÞÂõíkyu “Ëktzefq[”Lku “{nkr¼rLk»f{ý” MkkÚku Mkh¾kðu÷ Au ?

(A) MkhËkh ðÕ÷¼¼kE Ãkxu÷ (B) {nkËuð¼kE ËuMkkE

(C) {ki÷kLkk ykÍkË (D) MkhkursLke LkkÞzw

032. WÃkrLk»kË{k ðýoðu÷ ËkþorLkf rð[khÄkhk »kzTËþoLk yLku íkuLkk h[rÞíkkLku ÞkuøÞ heíku økkuXðku.

1. MkktÏÞ a. {nŠ»k Ãkíktsr÷

2. LÞkÞ b. {nŠ»k çkkËhkÞý

3. Þkuøk c. {nŠ»k frÃk÷

4. W¥kh {e{ktMkk d. {nŠ»k økkiík{
(A) 1 - b, 2 - c, 3 - d, 4 - a (B) 1 - a, 2 - b, 3 - c, 4 - d
(C) 1 - c, 2 - d, 3 - a, 4 - b (D) 1 - d, 2 - a, 3 - b, 4 - c

033. økwÃík yLku n»kofk÷eLk MktMf]ík MkkrníÞLke f]ríkyku, h[rÞíkk yLku f]ríkLkk «fkhLke òuzeyku Ãkife fE òuze ÞkuøÞ LkÚke ?

(A) Ëþfw{kh[rhík – Ëtze – økãfÚkk (B) fw{khMkt¼ð – ¼kMk – Lkkxf

(C) Ãkt[íktºk – rð»ýwþ{ko – ðkíkko Mktøkún (D) n»ko[rhík – çkkx¼è – SðLkfÚkk
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034. {æÞ ÞwøkLkk ¼khíkLkk ÷u¾fku, f]rík yLku ðeøkíkku Ëþkoðíke òuzeyku Ãkife fE òuze ÞkuøÞ LkÚke ?

(A) y{eh ¾wþhku – ¾òELk÷ Víkwn – økw÷k{, ¾e÷S Mk{ÞLkk ®nËLke {krníke

(B) yçËw÷ n{eË ÷knkuhe – çkkËþkn Lkk{k – yfçkhLkk Mk{ÞLkw ðýoLk

(C) frð ¼q»ký – rþð çkkðLke – rþðkS {nkhksLke rMkrØykuLke økkÚkk

(D) MkkhtøkÄh – r{hkík-yu-rMkftËhe – MkÕíkLkík ÞwøkLkk SðLkLke {krníke

035. ¼khíkLkk ÞkËøkkh ÞwØku yLku ð»koLku ÞkuøÞ heíku òuzku.

1. ÃkkýeÃkíkLkwt «Úk{ ÞwØ a. 1764

2. íkk÷efkuxkLkwt ÞwØ (Talikota) b. 1761

3. ÃkkýeÃkíkLkwt ºkeòw ÞwØ c. 1565

4. çkfMkhLkwt ÞwØ (Buxar) d. 1526
(A) 1 - d, 2 - c, 3 - b, 4 - a (B) 1 - c, 2 - b, 3 - a, 4 - d
(C) 1 - b, 2 - a, 3 - d, 4 - c (D) 1 - a, 2 - d, 3 - c, 4 - b

036. Lke[uLkk Ãkife fE òuze ÞkuøÞ LkÚke ?

(A) E.Mk. 1914 – «Úk{ rðïÞwØLke þYykík

(B) E.Mk. 1918 – LknuY heÃkkuxo

(C) E.Mk. 1946 – {wtçkE yLku fhk[e ¾kíku LkkiMkuLkkLkku çk¤ðku

(D) E.Mk. 1947 – ÷kuzo {kWLx çkuxLkLkwt ¼khík{kt ykøk{Lk

037. ðuÃkkhe yLku MðrLk¼oh Mðhkusøkkh {u¤ðíkk ÷kufku {kxuLke LkuþLk÷ ÃkuLþLk ÞkusLkk çkkçkíku Lke[uLkk Ãkife çkkçkík ÞkuøÞ LkÚke ?

(A) ÷k¼kÚkeo LkkLkku ÔÞkÃkkhe yÚkðk Mðhkusøkkh Mð rLk¼oh nkuðku òuEyu.

(B) ÞkusLkk{kt òuzkíke ð¾íku íkuLke W{h {ÞkoËk 25 Úke 60 ð»koLke Au.

(C) íkuLkw ðkŠ»kf xLkoykuðh (Turn over) 1.5 fhkuz Yk. fhíkk ykuAwt nkuðwt òuEyu.

(D) íku ykðf ðuhkLkk ËkÞhk{kt ykððku Lk òuEyu.
038. Lke[uLkk ðkõÞku [fkMkku.

1. E.Mk. 2020{kt 10 hkr»xÙÞ f]ík çkUfkuLkwt yufºke fhý fhðk{kt ykðu÷ Au.

2. yk yufºkefhýLku fkhýu Ëuþ{kt 12 ònuh ûkuºkLke çkUfku fkÞoðtík hnuþu.

(A) {kºk 1 ðkõÞ ÞkuøÞ Au. (B) {kºk 2 ðkõÞ ÞkuøÞ Au.

(C) 1 yLku 2 çkLLku ðkõÞku ÞkuøÞ Au. (D) 1 yLku 2 çkLLku ðkõÞku ÞkuøÞ LkÚke.

039. ykuÃkLk {kfuox ykuÃkhuþLk (Open Market Operation - OMO), MktË¼o{kt fÞk ðkõÞku ÞkuøÞ Au ?

1. OMO nuX¤ heÍðo çkuLf Mkhfkhe ò{eLkøkeheykuLkwt ¾heË ðu[ký fhu Au.

2. yk ÞkusLkk nuX¤ LkkýkLke «ðkneíkk rLkÞtºký fhðk{kt ykðu Au.

3. yk ÞkusLkk nuX¤ ¾kLkøke ò{eLkøkeheLkwt ¾heËe/ðu[ký heÍðo çkuLf îkhk fhðk{kt ykðu Au.

(A) 1 yLku 3 ðkõÞku ÞkuøÞ Au. (B) 2 yLku 3 ðkõÞku ÞkuøÞ Au.

(C) 1 yLku 2 ðkõÞku ÞkuøÞ Au. (D) 1, 2 yLku 3 çkÄks ðkõÞku ÞkuøÞ Au.

040. Ìkw{Lk zuð÷Ãk{uLx #zuõMk (HDI) çkkçkíku, Lke[uLkk Ãkife fÞw ðkõÞ ÞkuøÞ LkÚke ? HDI - {kLkð rðfkMk Mkq[fktf
(A) Þw.yuLk.ze.Ãke. (UNDP) îkhk 2019 Lkku ynuðk÷ ònuh fhu÷ Au.

(B) ¼khík yk ynuðk÷{kt 130{kt ¢{ WÃkh Au.

(C) Lkkuðuo, MðeÍh÷uLz ynuðk÷{kt «Úk{ yLku çkeò ¢{u Au.

(D) yk ynuðk÷{kt Mkk{kSf yLku ykŠÚkf {kÃkËtzkuLku æÞkLku ÷uðk{kt ykðu÷ Au.
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041. ELzeÞk Mfe÷ heÃkkuxo 2019-2020 (India Skill Report 2019-2020) ytøku Lke[uLkk Ãkife fÞw ðkõÞ ÞkuøÞ LkÚke ?

(A) ÃkeÃk÷ MxÙkUøk (People strong) CII UNDP suðe MktMÚkkyku îkhk yk ynuðk÷ çkLkkððk{kt ykðu Au.

(B) fkÞoçk¤ (Work force) {kt Lkðk òuzkíkk {kýMkkuLke hkusøkkheLke íkfku æÞkLk{kt ÷uðk{kt ykðu Au.

(C) hkusøkkheLke íkfku Ãkwhe Ãkkzðk {kxuLkk hkßÞku{kt {nkhk»xÙ, íkkr{÷Lkkzw yLku W¥kh «Ëuþ yøkú MÚkkLku Auu
(WÃkhkuõík heÃkkuxo {wsçk 1, 2, 3 MÚkkLk)

(D) ÃkwLkk yLku [uLLkkE hkusøkkheLke íkfku Ãkwhe ÃkkzLkkh yøkúøkÛÞ þnuhku Au. (WÃkhkuõík heÃkkuxo {wsçk 1 yLku 2 MÚkkLk)

042. 1. ELzeÞk ELkkuðuþLk ELzuõMk 2019 (India Innovation Index 2019) Lkerík ykÞkuøkLke {ËËÚke çkLkkððk{kt ykðu÷ Au.

2. Mkq[fktf çkLkkðíke ð¾íku Lkðeðíkk ðkíkkðhý (Intivation environment) Lku æÞkLku ÷uðk{kt ykðu Au.

3. {nkhk»xÙ, økwshkík yLku fuh¤k yøkúMÚkkLku Au.

WÃkhkuõík Ãkife fÞk ðkõÞku ÞkuøÞ Au ?

(A) 1 yLku 2 ÞkuøÞ Au. (B) 1 yLku 3 ÞkuøÞ Au.

(C) 2 yLku 3 ÞkuøÞ Au. (D) 1, 2 yLku 3 ÞkuøÞ Au.

043. xfkW rðfkMk ÷ûkktf (SDG Index - Sustainable Development Goals India Index) fkuLkk îkhk ònuh fhðk{kt
ykðu Au ?

(A) heÍðo çkuLf ykpV ELzeÞk (RBI) (B) Lkkçkkzo (NABARD)

(C) Lkerík ykÞkuøk (D) Lkkýk {tºkk÷Þ

044. ¼khíkLke Ãkt[ ð»keoÞ ÞkusLkkyku yLku íkuLkk {wÏÞ WÆuþLku ÞkuøÞ heíku økkuXðku.

1. «Úk{ Ãkt[ð»keoÞ ÞkusLkk a. ¾uíkeLkku rðfkMk

2. çkeS Ãkt[ð»keoÞ ÞkusLkk b. ykiãkuøkef ûkuºk rðfkMk

3. ºkeS Ãkt[ð»keoÞ ÞkusLkk c. yÚkoíktºkLke Mðíktºkíkk (Independence Economy)

4. [kuÚke Ãkt[ð»keoÞ ÞkusLkk d. ÂMÚkhíkk MkkÚku ð]rØ yLku ykí{rLk¼ohíkk MkkÚku «økríkþe÷ rMkrØ

(A) 1 - d, 2 - a, 3 - b, 4 - c (B) 1 - c, 2 - d, 3 - a, 4 - b
(C) 1 - b, 2 - c, 3 - d, 4 - a (D) 1 - a, 2 - b, 3 - c, 4 - d

045. þtfh - 6 (Shankar - 6) yu fÞk ÃkkfLkw MkwÄkhu÷ çkeÞkhý Au ?

(A) MkhMkð (Mustard) (B) fÃkkMk (Cotton)

(C) Mkªøk Ëkýk (Ground nut) (D) MkkuÞkçkeLk (Soyabean)

046. ÷½w¥k{ xufkLkk ¼kð (Minimum support price) fkuLkk îkhk ònuh fhðk{kt ykðu Au ?

(A) f]r»k, Mknfkrhíkk yLku rfMkkLk fÕÞký rð¼køk

(B) fuçkeLkuxLke EfkuLkku{ef yuVMko f{exe (Cabinet communittee on economic affairs)

(C) f]r»k ¾[o yLku ¼kð Ãkt[ (Agriculture cost and price commission)

(D) Lkkçkkzo (NABARD)

047. Lke[uLkk Ãkife fE MktMÚkk MÃkuþeÞ÷ zÙku#øk hkEx (Special Drawing Rights - SDR)Lke Mkøkðz ykÃku Au ?

(A) ðÕzo çkUf (World Bank)

(B) ðÕzo xÙuz ykuøkuoLkkEÍuþLk (World Trade Organisation)

(C) yuþeÞLk zuð÷Ãk{uLx çkUf (Asian Development Bank)

(D) ELxhLkuþLk÷ {kuLkuxhe Vtz (International Monetary Fund)
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048. Lke[uLkk ðkõÞku [fkMkku :

1. yLkwåAuË 280, ¼khíkLkwt MktrðÄkLk nuX¤ {kLk. hk»xÙÃkrík nwf{ fheLku Lkkýk ykÞkuøkLke h[Lkk fhu Au.

2. ykÞkuøk{k yæÞûk WÃkhktík {n¥k{ çkeò 4 MkÇÞku nkuE þfu Au.

3. Mkt½ yLku hkßÞku ðå[u fhLke [kuÏ¾e ykðfLku rð¼krsík fhðk, ykÞkuøk ¼÷k{ý fhu Au.

(A) 1 yLku 2 ðkõÞku ÞkuøÞ Au. (B) 1 yLku 3 ðkõÞku ÞkuøÞ Au.

(C) 2 yLku 3 ðkõÞku ÞkuøÞ Au. (D) 1, 2 yLku 3 ðkõÞku ÞkuøÞ Au.

049. íkfuËkhe ykÞkuøk (Vigilance commission)Lkk MktË¼o{k Lke[uLkk Ãkife fÞw ðkõÞ ÞkuøÞ LkÚke ?

(A) E.Mk. 2003{kt íkfuËkhe ykÞkuøk (Vigilance commission) Lku fkÞËkLkwt Ãkheçk¤ {¤u÷ níkw.

(B) {wÏÞ rðrs÷LMk fr{&™h WÃkhktík 2 rðrs÷LMk fr{&™h nkuÞ Au.

(C) ykÞkuøkLkk MkÇÞkuLke rLk{ýqtf {kLk. hk»xÙÃkrík, ¾kMk Mkr{ríkLke ¼÷k{ýLku æÞkLku ÷ELku fhu Au.

(D) MkÇÞ©eykuLke {wËík 6 ð»ko yÚkðk íkuyku 70 ð»koLke W{h {u¤ðu íÞkt MkwÄe nkuÞ Au.

050. Lkerík ykÞkuøkLkk MktË¼o{kt Lke[uLkk Ãkife fÞk ðkõÞku ÞkuøÞ Au.

1. ykÞkusLk Ãkt[Lku hÆ fheLku E.Mk. 2015{kt LkeríkykÞkuøkLke h[Lkk fhu÷ níke.

2. {kLk. ðzk«ÄkLk©e ykÞkuøkLkk [uhÃkMkoLk (yæÞûk) nkuÞ Au.

3. økðLkeOøk fkWLMk÷{kt hkßÞLkk {wÏÞ{tºke©eyku yLku Mkt½ hkßÞ ûkuºk/fuLÿþkrMkík «ËuþLkk WÃkhkßÞÃkk÷ MkÇÞ Au.

4. ¾kMk yk{tºkeíkkuLke rLk{ýqtf {kLk. hk»xÙÃkrík fhu Au.

(A) 1, 2 yLku 4 (B) 1, 2 yLku 3

(C) 1, 3 yLku 4 (D) 1, 2, 3 yLku 4

051. Lke[uLkk ðkõÞku Ãkife fÞw ðkõÞ ÞkuøÞ LkÚke ?

(A) ¼khíkLkk MktrðÄkLkLkk yLkwåAuË 72 nuX¤ {kLk. hk»xÙÃkríkLku, {kV fhðkLke, Mkò ½xkzðkLke Mk¥kk ykÃku÷ Au.

(B) ÷~fhe LÞkÞk÷Þu fhu÷ ík{k{ fuMkku{kt, {kLk. hk»xÙÃkrík ÃkkuíkkLke Mk¥kk ðkÃkhe þfu Au.

(C) {kuíkLke Mkò{kt {kºk rþûkk ½xkzðkLke Mk¥kk Au Ãkhtíkw {wÂõík ykÃkðkLke Mk¥kk LkÚke.

(D) WÃkhk»xÙÃkríkLkk nkuÆkLke {wËík, nkuÆku Mkt¼k¤u íÞkhÚke Ãkkt[ ð»koLke hnuþu.

052. Lke[uLkk ðkõÞku [fkMkku :

1. {kLk. hkßÞÃkk÷Lke rLk{ýqtf {kLk. hk»xÙÃkrík îkhk fhðk{kt ykðu Au.

2. {kLk. hkßÞÃkk÷ ÃkkuíkkLke MkneÚke nkuÆkLkwt hkSLkk{wt hkßÞLkk {wÏÞ{tºke©eLku ykÃku Au.

3. 35 ð»koLke ô{h Ãkqhe fhu÷ nkuÞ yLku ¼khíkLkku Lkkøkrhf nkuÞ íkuLku hkßÞÃkk÷ rLk{ðk{kt ykðu Au.

4. çktÄkhý{kt hkßÞÃkk÷Lku Ëwh fhðk {nkr¼Þkuøk (Impeachment)Lke òuøkðkE fhðk{kt ykðu÷ Au.

(A) 1 yLku 2 ðkõÞku ÞkuøÞ LkÚke. (B) 1 yLku 3 ðkõÞku ÞkuøÞ LkÚke.

(C) 2 yLku 4 ðkõÞku ÞkuøÞ LkÚke. (D) 1 yLku 4 ðkõÞku ÞkuøÞ LkÚke.

053. Wå[ík{ LÞkÞk÷ÞLku Ãkkuíku Mkt¼¤kðu÷ fkuE VuMk÷kLke yÚkðk fhu÷ nwf{Lke ÃkwLkŠð[khýk fhðkLke Mk¥kk, ¼khíkLkk MktrðÄkLkLke
fE f÷{ nuX¤ ykÃkðk{kt ykðu÷e Au ?
(A) 137 (B) 136
(C) 135 (D) 134

054. 73{ku çktÄkhýLkku MkwÄkhku fkuLku ÷køkw Ãkzu Au ?

(A) xkWLkþeÃMk (Townships) (B) Ãkt[kÞík - MktMÚkkykuLku (Panchayat)

(C) BÞwrLkrMkÃkkr÷xe (Municipalities) (D) WÃkhkuõík çkÄes çkkçkíkkuLku
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055. “{q¤¼qík Vhòu” ¼khíkLkk MktrðÄkLkLkk fÞk ¼køk{kt (Part) Ëþkoððk{kt ykðu÷ Au ?

(A) Part - ¼køk - 4 (B) ¼køk 4 - a (4-f)

(C) ¼køk 5 (D) ¼køk 5 - a (5-f)

056. “yk{w¾ - (preamble) yu çktÄkhýLkku ¼køk Au” yk çkkçkík Lkk{. Wå[ík{ LÞkÞk÷Þ îkhk fÞk fuMk{kt Lk¬e fhðk{kt
ykðu÷ níke ?

(A) yuMk.ykh. çkku{kE fuMk (SR Bommai case)

(B) fuþðkLktË ¼khíke fuMk (Kesavanand Bharti case)

(C) yþkuf fw{kh Xkfwh fuMk (Ashok Kumar Thakur case)

(D) yu{.Mke. {nuíkk fuMk (MC Mehta case)

057. fkuE Ãký ÔÞÂõíkLku Lkk{Ëkh fkuxo{kt YçkY hòw fhðk to have the body of fE rhx (writ) Ëk¾÷ fhðk{kt ykðu Au ?

(A) çktËe «íÞûkefhý (nuçkeÞMk fkuhÃkMk) (B) Ãkh{ ykËuþ ({uLzu{Mk)

(C) «rík»kuÄ («kurnrçkþLk) (D) yrÄfkh-ÃkwåAk (õðku ðkuxLxku)

058. ¼khíkLkk hk»xÙÃkrík WÃkh MktrðÄkLkLkk WÕ÷t½Lk {kxu “{nk ykhkuÃk” {qfðkLke ÃkØrík, ¼khíkLkk MktrðÄkLkLke fE f÷{{kt
Ëþkoððk{kt ykðu÷e Au ? (Impeachment of the President)
(A) 60 (B) 61
(C) 62 (D) 63

059. ¼khíkLkk MktrðÄkLk{kt “[qxýe ykÞkuøk”Lke òuøkðkE fÞk ¼køk{kt yLku fE f÷{{kt Ëþkoððk{kt ykðu÷ Au ?

(A) ¼køk 14 f÷{ 325 (B) ¼køk 14 f÷{ 324

(C) ¼køk 15 f÷{ 324 (D) ¼køk 16 f÷{ 342

060. økwshkík hkßÞLkk MkkiÚke «Úk{ {rn÷k hkßÞÃkk÷ fkuý níkk ?

(A) {kLk. fw{wËeLkeçkuLk òu»ke (B) {kLk. þkhËk {w¾So

(C) {kLk. hk{ Ëw÷khe MkeLnk (D) {kLk. W{eo÷k Mkª½

061. “¼khíkLkk yuxLkeo sLkh÷Lke rLk{ýqtf {kxuLke ÷kÞfkíkku” ¼khíkLkk MktrðÄkLkLke fE f÷{{kt Ëþkoðu÷ Au ?
(A) 76(1) (B) 76(2)
(C) 75(1) (D) 74(1)

062. “ònuh Mk¥kk{tz¤kuLke sðkçkËkheyku” ytøkuLke òuøkðkE {krníkeLkku yrÄfkh yrÄrLkÞ{ 2005Lke fE f÷{{kt sýkððk{kt
ykðu÷ Au ?

(A) 3 (B) 4
(C) 5 (D) 6

063. 4-12-2019, 1-1-2020, 29-1-2020, 26-2-2020 ÃkAe fE íkkhe¾ nþu ..............?
(A) 24-3-2020 (B) 25-3-2020
(C) 26-3-2020 (D) 27-3-2020

064. AZ, CX, FU, _______ fÞku þçË Mk{wn ykðþu.
(A) HS (B) GJ
(C) IR (D) JQ

065. 121, 156, 256, 400 _______ yLku _______ ¾k÷e søÞk Ãkwhku :

(A) 529 yLku 676 (B) 625 yLku 961

(C) 676 yLku 841 (D) 841 yLku 1089
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066. Ãkkt[ ð»ko Ãknu÷k 6 çkk¤fkuLke Mkhuhkþ W{h Ãkkt[ ð»ko níke. íkuykuLke MkkÚku íkuykuLkk {eºkLke yksLke W{h 45 Au, íkuLku
W{uhíkk çkÄkLke yksLke Mkhuhkþ W{h fux÷e Úkþu ?
(A) 50 ð»ko (B) 45 ð»ko
(C) 15 ð»ko (D) 10 ð»ko

067. yuf MktÏÞkLkk 3/5 Lkk 4/9 çkhkçkh 48 ÚkkÞ íkku íku MktÏÞk fE nþu ?
(A) 180 (B) 96
(C) 144 (D) 225

068. yuf MktÏÞkLkk 8 økýk{ktÚke 12 çkkË fhíkk su Ãkrhýk{ {¤u Au, íku {w¤ MktÏÞkLkk 6 økýk{kt 8 W{uhíkk su Ãkrhýk{ {¤u Au,
íku «Úk{ Ãkrhýk{ Au, íku Mk{kLk Au. yk Mktòuøkku{kt {w¤ MktÏÞk fE nþu ?
(A) 8 (B) 10
(C) 12 (D) 16

069. yuf xktfeLku yuf Lk¤ 60 {eLkex{kt, çkeòu Lk¤ 75 {eLkex{kt yLku ºkeòu Lk¤ 100 {eLkex{kt ¼he þfu Au. òu yufe MkkÚku
ºkýuÞ Lk¤ [k÷w fhðk{kt ykðu íkku xktfe fux÷k {eLkex{kt ¼hkþu ?
(A) 20 {eLkex (B) 25 {eLkex
(C) 30 {eLkex (D) 40 {eLkex

070. 24 {sqhku Ëh hkus 6 f÷kf fk{ fheLku yuf hMíkku 18 rËðMk{kt çkLkkðu Au. òu Ëh hkus 4 f÷kf fk{ fhðkLkwt nkuÞ yLku 12
rËðMk{kt hMíkku çkLkkððkLkku nkuÞ íkku fux÷k ðÄkhkLkk {sqhku sYhe Au ?
(A) 30 (B) 45
(C) 54 (D) 60

071. 140 {exh ÷tçkkEðk¤e økkze 60 rf{e/f÷kfLke ÍzÃku síke økkze Mkk{uÚke ykðíke økkze fu su Úke ÍzÃk 48 rfr{/f÷kf Au
yLku ÷tçkkE 160 {exh Au, íkuyku yufçkeòLku fux÷k Mk{Þ{kt ÃkMkkh fhþu ?
(A) 8 MkufLz (B) 15 MkufLz
(C) 10 MkufLz (D) 20 MkufLz

072. yuf [kuhMkLke ÷tçkkE{kt 20% Lkku ðÄkhku fhðk{kt ykðu íkku ûkuºkÃk¤{kt fux÷ku ðÄkhku Úkþu ?
(A) 20% (B) 40%
(C) 44% (D) 50%

073. 10 {exh ÷ktçkk, 8 {exh Ãknku¤k Äkçkk{kt 6 Mku.{e., ðhMkkË Ãkzu íkku fux÷k r÷xh Ãkkýe Äkçkk{kt Ãkzu÷ nþu ?
(A) 2400 (B) 3600
(C) 4800 (D) 6000

074. yuf «ðkne{kt A yLku B Lkw «{ký 3:2 Lkwt Au yLku fw÷ sÚÚkku 100 r÷xh Au. yk sÚÚkk{kt B Lkw 40 r÷xh ðÄkhkLkwt «ðkne
W{uhðk{kt ykðu íkku Lkðwt økwýku¥kh fux÷w nþu ?
(A) 4:3 (B) 3:4
(C) 3:3 (D) 3:5

075.
8

1 10 27

64

   
216

125 26 343

512

   
1000

1 x 729

8

x Lkwt fux÷wt {wÕÞ nþu ?
(A) 24 (B) 22
(C) 29 (D) 34
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076. yuf ½zeÞk¤{kt 3 ðkøku÷ Au, òu ½zeÞk¤Lkku f÷kfLkku fktxku (Hour hand) 135° (ytþ) ykøk¤ ðÄu÷ nkuÞ íkku Mk{Þ
fux÷ku nþu ?

(A) 7.30 f÷kf (B) 6.30 f÷kf

(C) 5.30 f÷kf (D) 8.30 f÷kf

077. yuf þk¤k{kt 500 {kfoLke ºký Ãkheûkk ÷uðkÞ Au yuf çkk¤fLku «Úk{ Ãkheûkk{kt 45% yLku çkeS Ãkheûkk{kt 55% {kfo
{¤u íkku ºkeS Ãkheûkk{kt fux÷k {kfo sYhe Au suÚke Mkhuhkþ 60% {kfo, çkÄe Ãkheûkkyku{kt {¤eLku ÚkE þfu ?
(A) 450 (B) 400
(C) 350 (D) 300

078. yuf {trËh{kt yLkw¢{u 9 {eLkexu 12 {eLkexu yLku 15 {eLkexu «Úk{, çkeòu yLku ºkeòu ½tx ðkøku Au, òu Mkðkhu 8 ðkøku yufe
MkkÚku ºký ½tx ðkøkíkk nkuÞ íkku VheÚke ºký ½tx õÞkhu MkkÚku VheÚke ðkøkþu ?

(A) 8.36 f÷kf (B) 11.00 f÷kf

(C) 11.30 f÷kf (D) 12.00 f÷kf

079. ¼khíkLkk {nkLk {rn÷k rð¿kkLkeyku yLku íkuykuLkk rð»kÞkuLku ÞkuøÞ heíku òuzku.

rð¿kkLke rð»kÞ

1. {kLk. Ehkðíke fðuo a. ðLkMÃkrík þkMºk

2. {kLk. yLLkk {rý b. xe~Þw fÕ[h

3. {kLk. f{÷ hýËeðu c. nðk{kLk þkMºke

4. {kLk. y[oLkk þ{ko d. yuÚkúkuÃkku÷kursMx
(A) 1 - b, 2 - a, 3 - d, 4 - c (B) 1 - c, 2 - b, 3 - a, 4 - d
(C) 1 - d, 2 - c, 3 - b, 4 - a (D) 1 - a, 2 - d, 3 - c, 4 - b

080. Mkk{kLÞ ðÃkhkþ{kt ykðíkwt “ç÷e[ªøk yusLx” “rðhtsLk yusLx” fÞwt Au ?

(A) ykÕfkunku÷ (Alcohol) (B) fkçkoLk zkÞkuõMkkEz (Carbon dioxide)

(C) õ÷kuheLk (Chlorine) (D) MkkuzeÞ{ õ÷kuheLk (Sodium Chlorin)

081. ¼khík{kt MkkiÚke ðÄw {kºkk{kt fE “fk[e Äkíkw” (ore) {¤u Au ?

(A) {kuLkkÍkEx (Monazite) (B) VkuhMÃkh (Fluorspar)

(C) çkkuõMkkEx (Bauxite) (D) {uøLkuxkEx (Magnetite)

082. B.C. Roy yuðkuzo fÞk ûkuºkLke fk{økehe Mkçkçk ykÃkðk{kt ykðu Au ?

(A) Mktøkeík þkMºk (Music) (B) Ãkºkfkheíð (Journalism)

(C) yki»kÄþkMºk (Medicine) (D) ÃkÞkoðhý (Environment)

083. Ãkh{kýwtLkw fË (Nuclear size) fÞk yuf{{kt Ëþkoððk{kt ykðu Au ?

(A) V{eo (Fermi) (B) yuLøkMxÙku{ (Angstorm)

(C) LÞwxkpLk (Newton) (D) xuM÷k (Tesla)

084. ÷kEx EÞh (Light year) yu þkLkwt yuf{ Au ?

(A) Mk{Þ (Time) (B) ytíkh (Distance)

(C) «fkþ (Light) (D) «fkþLke íkeðúíkk (Intensity of light)

085. Pa (Pascal) yu þkLkw yuf{ Au ?

(A) ÍzÃk (Speed) (B) Ëçkký (Pressure)

(C) ykðoíkLk (Frequency) (D) ðknfíkk (Conductivity)
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086. Lke[uLkk Ãkife fkuLkku WÃkÞkuøk ÷e÷w ¾kíkh “Green Manure” íkhefu ÚkkÞ Au ?

(A) ½ô (Wheat) (B) MkLk nuBÃk (þýLkku Akuz) (Sunhemp)

(C) fÃkkMk (Cotton) (D) zktøkh/[ku¾k (Rice)

087. Lke[uLkk Ãkife fÞku Ãkkf “ðkrýßÞ Ãkkf” (Commercial Crop) LkÚke ?

(A) þuhze (B) þý

(C) ík{kfw (D) {fkE

088. yhfk Mkku{k (Arka Soma) yLku yhfk ºkþLkk (Arka Trashna) yu fÞk V¤/þkf¼kSLkku «fkh Au ?

(A) ÿkûk (Grape) (B) x{uxk (Tometo)

(C) ò{V¤ (Guava) (D) Lkkhtøke (Orange)

089. ðÕzo yuBÞku[h rçkr÷Þzo xkÞx÷ (The World Amateur Billards Title) SíkLkkh «Úk{ ¼khríkÞ fkuý níkk ?

(A) økeík þuXe (B) rð÷MkLk òpLk

(C) {kÞf÷ Vhuhk (D) {Lkkus fkuXkhe

090. h{íkðeh yLku íkuLke h{íkkuLke òuzeyku økkuXðku.

1. yÃkoýk ÃkkuÃkx a. çkpz{eLxLk

2. {uhe fkp{ b. {w¬kçkkS

3. Ëku÷k çkpLkhS c. íkehtËkS

4. Mkkihð ½ku»kk÷ d. Mfðkpþ (Squash)
(A) 1 - a, 2 - b, 3 - c, 4 - d (B) 1 - b, 2 - c, 3 - d, 4 - a
(C) 1 - c, 2 - d, 3 - a, 4 - b (D) 1 - d, 2 - a, 3 - b, 4 - c

091. ¼khíkLkk hkßÞku yLku íkuLkk MxurzÞ{Lke òuzeyku Ãkife fE òuzeyku ÞkuøÞ Au ?

1. yktÄú «Ëuþ – YS hkòhuœe MxurzÞ{

2. ykMkk{ – MkíkeLÿ {kunLk Ëuð MxurzÞ{

3. rçknkh – rík÷f {iËkLk MxurzÞ{

4. økkuðk – {kuíke çkkøk MxurzÞ{

(A) 1 yLku 3 (B) 1 yLku 4

(C) 2 yLku 4 (D) 1 yLku 2

092. ¼khíkLke xÙkpVe (Trophies)/fÃk yLku h{íkLkk òuzfk Ãkife fE òuze ÞkuøÞ LkÚke ?

(A) yøkúðk÷ fÃk (Agarwal Cup) – çkpz{eLxLk fÃk (B) ykøkk¾kLk fÃk (Aghakhan Cup) – r¢fux

(C) çkktËkuzfh fÃk (Bandodkar Cup) – Vqxçkkp÷ (D) EÍhk fÃk (EZRA Cup) – Ãkku÷ku

093. Lke[uLkk Ãkife fÞk h{íkðehLku “¼khík híLk” (Bharat Ratna) {¤u÷ Au ?

(A) æÞkLk [tË (B) Mk[eLk íkUzw÷fh

(C) rðïLkkÚk ykLktË (D) ÷eÞuLzh ÃkuMk

094. ðLk Ã÷uLkux Mk{ex (One Planet Summit) Lkw ykÞkusLk fkuý fhu Au ?

(A) ÞwLkkExuz LkuþLMk (United Nations) yLku ðÕzo çkUf yLku £kLMk Mkhfkh

(B) ÞLkkExuz LkuþLMk yLku òÃkkLk Mkhfkh

(C) ðÕzo nuÕÚk ykuøkuoLkkEÍuþLk (WHO) yLku Lkerík ykÞkuøk - ¼khík Mkhfkh

(D) ÞwLkkExuz LkuþLMk ðÕzo nuÕÚk ykuøkuoLkkEÍuþLk (WHO) yLku y{uhefLk Mkhfkh
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095. nuýkuíkhku (Caracel) Lku nk÷{kt rððu[Lkkí{f heíku ÷wÃík Úkíke òríkyku{kt (critically endangered specied) Mk{kðuþ
fhðk{kt ykðu÷ Au. nuýkuíkh fÞk hkßÞ/hkßÞku{kt òuðk {¤u Au ?

1. hksMÚkkLk 2. økwshkík 3. Ãktòçk 4. {nkhk»xÙ

(A) 1 yLku 3 (B) 1 yLku 4

(C) 1 yLku 2 (D) 2 yLku 3

096. nk÷{kt fuLÿ Mkhfkh îkhk fÞk fuLÿ þkrMkík «Ëuþku{kt ykX (8) nkEzÙku «kusuõxTMk (Hydro Power Projects) {tòwh
fhu÷ Au ?

(A) [LzeøkZ (Chandigarh) (B) ÷Ëk¾ (Ladakh)

(C) Ãkwzw[uhe (Puducherry) (D) ÷ûkîeÃk (Lakshadweep)

097. nk÷{kt fÞk hkßÞLke/fuLÿ þkrMkík «ËuþLke MkuðkykuLku (All India Services) Lku AGMUJ fuzh MkkÚku yufºkeík (merge)
fhðk{kt ykðu÷ Au ?

(A) ykMkk{ yLku {u½k÷Þ (B) sB{w yLku f~{eh

(C) W¥khk¾tz (D) ytËk{kLk yLku rLkfkuçkkh

098. nk÷{kt fÞk hkßÞyu “çkzo^÷w”Lku fkhýu yk¾k hkßÞLku “rLkÞtrºkík rðMíkkh” (Controlled State) ònuh fhu÷ Au ?

(A) rºkÃkwhk (B) {rýÃkwh

(C) Ãktòçk (D) ykurzþk

099. heÍðo çkuLf ykpV ELzeÞk (RBI) Lkk {kLk. økðoLkh fkuý Au ?

(A) zkp. h½whk{ hksLk (B) zkp. WŠsík Ãkxu÷

(C) zkp. ze. Mkwççkkhkð (D) ©e þrþfkLík ËkMk

100. Ãkqðo ðzk«ÄkLk Mð.©e yx÷ rçknkhe ðksÃkkELkk sL{ rËLkLku fÞk “rËLk” íkhefu WsðkÞ Au ?

(A) MkwþkMkLk rËLk (B) sÞ sðkLk, sÞ rfMkkLk rËLk

(C) MðåAíkk rËLk (D) Mkkûkhíkk rËLk
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101. Considering the atomic number and position of the elements Si, Be, Mg, Na and P in the periodic
table, arrange its metallic character in the increasing order.
(A) P < Be < Mg < Si < Na (B) P < Si < Na < Be < Mg
(C) P < Si < Mg < Be < Na (D) P < Si < Be < Mg < Na

102. Which one of the following is the best method for determining concentration of NaOH solution ?
(A) Standardization with potassium hydrogen phthalate
(B) To check the pH with litmus paper
(C) To measure the pH of the solution with a calibrated pH electrode
(D) Standardize with HCI until a red/clear end point is detected

103. Find out the smallest possible uncertainty in the position of an electron moving with velocity
3  107 m/sec (h = 1.054  10–34 Js, m0 = 9.11  10–31 kg)
(A) 0.384 A° (B) 0.0384A°
(C) 0.00384 A° (D) 0.000384 A°

104. According to quantum mechanics, the total probability of finding the particle in space under
normalized condition is _______
(A) Zero (B) Unity
(C) Infinity (D) Uncertain

105. The energy of the particle is proportional to _______
(A) n (B) 1/n
(C) n2 (D) 1/n2

106. Which one of the following is incorrect ?
(A) First step in photochemistry is excited state (Photoexcitation)
(B) Photochemical reactions are caused by absorption of ultraviolet only
(C) It is possible for the excited state S1 to undergo spin inversion
(D) When a molecule or atom in the ground state (S0) absorb light, one electron is excited to the

higher orbital level
107. At constant temperature, the pressure of the gas is reduced to one third, the volume will _______

(A) Remains the same (B) Increase by three times
(C) Increase by two times (D) Unpredicted

108. For one mole of gas, the ideal gas equation is
(A) Pv = RT (B) Pv = 3/2 RT
(C) Pv = 5/2 RT (D) Pv = 1/2 RT

109. The collision frequency of a gas is _______
(A) Directly proportional to the absolute temperature
(B) Inversely proportional to the pressure of the gas
(C) Inversely proportional to the absolute temperature
(D) Directly proportional to the square root of absolute temperature

110. How many molecules are present in 0.2 g of hydrogen ?
(A) 3.0125  1023 (B) 6.023  1023

(C) 3.0125  1022 (D) 6.023  1022
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111. Sulphates of calcium, barium and strontium exhibits
(A) Fluorescence (B) Phosphorescence
(C) Luminesce (D) Chemiluminescence

112. A glass of certain thickness is found to have a transmission of 70% of light. If the thickness of
glass is reduced, the transmission of light would be _______
(A) Increased (B) Decreased
(C) Remained to the same (D) Reduced to zero

113. The salt bridge in the electrochemical cell is used to
(A) Increase the voltage of the cell
(B) Increase the oxidation / reduction rate
(C) Maintain electrical neutrality
(D) Increase the rate at which equilibrium is attained

114. Which one of the following can be used to measure pH ?
(A) A glass electrode (B) A concentration cell
(C) A hydrogen electrode (D) All of the above

115. Calculate the equilibrium constant for the following reaction
2Ag+ + Zn  Zn2+ + 2Ag    (E 0 cell = 1.56 v)
(A) K = 1.0  1052 (B) K = 2.0  1052

(C) K = 3.0  1052 (D) K = 4.0  1052

116. Choose the correct order of molar ionic conductivities of the following ions
Li+, K+, Na+, Rb+

(A) Li+ < Na+ < K+ < Rb+ (B) Li+ < K+ < Rb+ < Na+

(C) Li+ < Rb+ < Na+ < K+ (D) Li+ < Na+ < Rb+ < K+

117. Which one of the following gases will have the highest rate of diffusion ?
(A) CO2 (B) N2

(C) NH3 (D) CH4

118. Out of the following pairs of gases, which will diffuse through a porous plug with the same rate
of diffussion ?
(A) NO2, CO2 (B) NO, C2H6

(C) CH4, O2 (D) NO, CO
119. Which of the following is incorrect : When 2.0 g of hydrogen gas in heated from 27°C to 327°C

in a closed flask of one litre ?
(A) The rate of collision increases
(B) The number of moles of the gas increases
(C) The kinetic energy of gaseous molecule increase
(D) The pressure of the gas increases

120. Equal volume of methane and ethane are mixed in an empty container at 25°C. The fraction of
total pressure exerted by ethane is _______
(A) 8/15 (B) 1/2
(C) 2/3 (D) 3/2

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



ARE - MASTER ] 15 [ P.T.O.

121. The compressibility factor Z for an ideal gas is
(A) Zero (B) Greater than one
(C) Less than one (D) Equal to one

122. What will be the indication, “When a chemical cell’s voltage (E0) has dropped to zero”
(A) The concentration of the reactants has increased
(B) The concentration of products has increased
(C) The cell reaction has reached equilibrium
(D) The cell reaction has completely stopped

123. Acidic strength increases as _______
(A) H2O < H2S < H2Se < H2Te (B) H2O < H2Se < H2Te < H2S
(C) H2O < H2Te < H2S < H2Se (D) H2O < H2Te < H2Se < H2S

124. Which one of the following is not a Lewis acid
(A) BF3 (B) NF3

(C) SnCl4 (D) AlCl3
125. In the following reaction,

H2O + HCl  H3O+ + Cl–

Which one of the following works as a Bronsted acid ?
(A) H2O (B) OH–

(C) HCl (D) Cl–

126. HCO3
– is an example of

(A) Conjugate acid (B) Amphiprotic ion
(C) Conjugate base (D) Amphoteric ion

127. All cations and molecules that have deficiency of an electron pair which act as _______
(A) Bronsted bases (B) Iewis bases
(C) Lewis acids (D) Bronsted acids

128. The dissociation constant of acid HA is given by _______

(A) 
[ ][ ]

[ ]
H AKa

HA

 
 (B) 

2[ ] [ ]
[ ]

H AKa
HA




(C) 
2 2[ ] [ ]

[ ]
H AKa

HA

 
 (D) 

2[ ][ ]
[ ]

H AKa
HA




129. The strength of a base depends upon the _______
(A) Concentration of the base
(B) Concentration of H+ ions in aqueous solution
(C) Concentration of OH– ions in aqueous solution
(D) Concentration of electron pairs in aqueous solution

130. Which one of the following is correct ?
(A) pH + pOH = 14 (B) pH + pOH = 7
(C) pH – pOH = 14 (D) pH – pOH = 0
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131. The fraction of total molecules which is ionised in a solution of an electrolyte is known as _______
(A) Degree of dissociation (B) Dissociation constant
(C) Electrolyte constant (D) Mole fraction of the electrolyte

132. Which one of the following does not act as masking agent ?
(A) Iron (B) Iodide
(C) Triethanol amine (D) Ammonium fluoride

133. Which one of the following is used as a buffer with xylenol orange in the direct complexometric
titration by EDTA ?
(A) Aqueous ammonia (B) Aqueous ammonia and ammonium chloride
(C) Hexamine (D) Both (A) and (B)

134. Which one of the following electrode, is used as indicator in potentiometric acid - base titration ?
(A) Glass electrode (B) Platinum electrode
(C) Silver electrode (D) Nickel electrode

135. The conductivity of 0.25 M solution of KCl at 300 K is 0.02755 cm–1. It’s molar conductivity will
be _______
(A) 110.0 cm2 mol–1 (B) 9.09 cm2 mol–1

(C) 90.9 cm2 mol–1 (D) 11.0 cm2 mol–1

136. In Arhenius equation,

Ea
RTK A e


 

Where A is _______
(A) Activation energy
(B) Rate constant of the reaction at infinite temperature
(C) Enthalpy of reaction
(D) Free energy of reaction

137. Which of the following statements is/are incorrect ?
I.   Bulk materials are non-homogenous
II. In bulk materials particles are not uniformly distributed within the material
III. Bulk materials are homogeneous
(A) I only (B) I and II
(C) III only (D) II and III

138. The alloy of transition metal and non metal are known as _______
(A) Interstitial alloy (B) Substitutional alloy
(C) Intermetallic complex (D) Simple mixtures

139. The shape of  BF4
– according to VSEPR model is _______

(A) Tetrahedral (B) Trigonal planner
(C) Trigonal pyramidal (D) Trigonal bipyramidal

140. _______ ligands can be find through two different atoms to form a co-ordinate bond
(A) Bidentate (B) Flexidentate
(C) Ambidentate (D) Polydentate
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141. How many microstates are possible for d2 configuration, which shows both weak and strong
field limits ?
(A) 10 (B) 15
(C) 45 (D) 90

142. Which one of the following complex shows linkage isomerism ?
(A) [CO(NH3)5 (SCN)] Cl2 (B) [Cr (en)3]3+

(C) [Pt (NH3)2 Cl2] (D) [Cr (NH3)3 (H2O)3]3+

143. CFSE (0) for metal ion in d7 configuration in presence of strong ligand field is _______
(A) – 0.8 0 (B) – 1.8 0

(C) – 0.6 0 (D) – 1.6 0

144. The d-d transitions in octahedral [NiX6]2+ complex are
(A) Laporte forbidden and spin forbidden (B) Laporte allowed and spin allowed
(C) Laporte allowed but spin forbidden (D) Laporte forbidden but spin allowed

145. Zeeman effect is the splitting of spectral line in the presence of _______
(A) Magnetic field (B) Inert environment
(C) Vacuum (D) Electric field

146. Which one of the following metal carbonyl pairs does not have the same EAN of metal
(A) Ni (CO)4  , Fe (CO)5 (B) Cr (CO)6 , MO (CO)6

(C) Cr (CO)6 , Ni (CO)4 (D) Cr (CO)6 , Fe (CO)5

147. Which one of the following is pi-acid ligand ?
(A) ONO– (B) C2H4

(C) NO2
– (D) CN–

148. If we take 35.0 ml of 0.250 M Fe2+ to titrate 100 ml at a solution containing Cr2O7
2–, what is the

molar concentration of Cr2O7
2–

(A) 0.1460 M (B) 0.0146 M
(C) 0.00146 M (D) 0.0875 M

149. Which one of the following is not correct in context to the kinetic theory of gases ?
(A) Gases are made up of small particles and negligible size as compared to container size
(B) When molecule collide they lose energy
(C) When gas is heated, the average kinetic energy of gas molecules increases
(D) The molecules are always in random motions

150. Standard boiling point of the liquid is slightly _______
(A) Lower than the normal boiling point
(B) Higher than the normal boiling point
(C) Same as the normal boiling point
(D) May lower or higher than the normal boiling point

151. What will be the density of O2 gas at 227°C and 5.00 atm pressure ? (R = 0.0821 atm K–1 mol–1)
(A) 3.89 g/ml (B) 3.41 g/ml
(C) 2.81 g/ml (D) 1.40 g/ml
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152. Equal weights of CH4 and H2 are mixed in a vessel at 25°C. Fraction of total pressure exerted by
methane is _______
(A) 1/2 (B) 1/3

(C) 1/9 (D) 8/9

153. Molecular geometry of SeF4 is _______
(A) T–shaped (B) Seesaw

(C) Tetrahedral (D) Square planer

154. Hybridization of carbon in H2CO will be _______
(A) SP (B) SP2

(C) SP3 (D) SP3d

155. [Pt Cl3 (C2H4)]– is _______ type of organometallic compound
(A) Bridge (B) Sandwich

(C) Olefin (D) Ionic

156. Which one of the following types of spectroscopy is a light-scattering technique ?
(A) NMR (B) IR

(C) Raman (D) UV

157. IR spectroscopy is useful for determining certain aspects of the structure of organic compounds
because _______

(A) Most organic functional groups absorb in characteristic region of IR spectrum
(B) IR peak intensities are related to molecular mass

(C) All molecular bonds absorb IR radiation

(D) Each element absorbs at a characteristic wave length
158. Which one of the following 13 group element has more stable +1 oxidation state than +3 oxidation

state
(A) B (B) Al

(C) In (D) Tl

159. Among the following, the incorrect statement is _______
(A) NCl5 does not exist

(B) Reducing character of hydrides of group 15 increases down the group

(C) Basicity of hydrides of group 15 increases down the group
(D) Phosphorous and arsenic can form P–dbond but not nitrogen

160. Which one of the following is classified as a conjugate acid-base pair ?

(A) HCl/NaOH (B) H3O+/H2O
(C) O2/H2O (D) H+/Cl–

161. Which of the following statements about the lanthanide elements is incorrect ?

(A) The most common oxidation state for the lanthanide elements is +3
(B) All the lanthanide elements react with aqueous acids to liberate hydrogen

(C) The lanthanide form stable complexes with chelating oxygen ligands

(D) The atomic radii of the lanthanide element increase across the period from La to Lu
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162. Which one of the following statement is correct for normal phase HPLC ?
(A) The mobile phase is polar and the stationary phase is non polar
(B) The mobile phase is non polar and the stationary phase is polar
(C) Eluent strength is increased by adding a more polar solvent to the mobile phase
(D) Both the mobile and stationary phase are non-polar

163. Among the following, which does not act as cation exchanger in acid forms ?
(A) Amberlite IR 400 (B) Amberlite IR 120
(C) Dowex 50 (D) Zero-Krab 225

164. In TLC (Thin Layer Chromatography), the stationary and mobile phase is made up of _______
& _______ respectively.
(A) Liquid, liquid (B) Liquid, gas
(C) Solid, gas (D) Solid, liquid

165. Which of the following reactions goes to completion because a gas is evolved ?
(A) 2CO + O2 2CO2 (B) 2H2 + O2 2H2O
(C) N2 + 3H2 2NH3 (D) Zn + 2HCl ZnCl2 + H2

166. How the intensity of radiation can be increased in Hollow cathode lamp ?
(A) By the addition of non-conductive protective shield of mica
(B) By the addition of nitrogen to neon or argon in the lamp
(C) By increasing the pressure of the filling gas
(D) By changing the metal of anode

167. The pH of 10–10 M solution of NaOH is nearly
(A) Zero (B) 10
(C) –10 (D) 7

168. Which one of the following is not a buffer solution ?
(A) CH3COONa + CH3COOH (B) HCOONA + HCOOH
(C) NH4Cl + NH4OH (D) NaOH + HCl

169. Most suitable indicator for the titration of HCl and NH4OH is
(A) Eriochrome black – T (B) Phenolpthalein
(C) Phenol red (D) Methyl orange

170. The ionic product of water will increase if _______
(A) Pressure is increased (B) Pressure is decreased
(C) Temperature is increased (D) Temperature is decreased

171. The standard entropy S°, of a substance is _______
(A) Its entropy at 25 K and 1 atm pressure (B) Its entropy at 0 K and 1 atm pressure
(C) Its entropy at 0° C and 1 atm pressure (D) Its entropy at 25°C and 1 atm pressure

172. Entropy is a measure of _______ of the molecules of the system
(A) Randomness (B) Zig-zag motion
(C) Velocity (D) Concentration

173. The cycle of process which occurs under reversible conditions is reffered to as
(A) Carnot cycle (B) Cyclic process
(C) Closed process (D) Reversible cycle
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174. The efficiency of heat engine is calculated by the formulae :

(A) 
2 1

2 2

T TW
q T


 (B) 

1 2

2 2

T TW
q T




(C) 
2 1

2 1

T TW
q T


 (D) 

1 2

2 1

T TW
q T




175. The efficiency of a heat operating between 400 K and 300 K is

(A) 0.75 (B) 0.25

(C) 1.0 (D) – 0.50

176. The change in free energy is a measure of

(A) Net change in internal energy (B) Net change in entropy

(C) Net work done (D) Net change in enthalpy

177. The equation for Van’t Hoff isotherm is _______

(A) –G = 2.303 RT2 log Kp (B) –G = 2.303 RT log Kp

(C) G = 2.303 RT log Kp (D) G = 2.303 RT2 log Kp

178. The equation

2
(ln )H d Kp

dTRT




is known as _______

(A) Gibbs equation (B) Van’t Hoff equation

(C) Van’t Hoff isochore (D) Gibbs Duhem equation

179. When water is cooled to ice, its entropy

(A) Increases (B) Remains the same

(C) Decreases (D) Becomes zero

180. Which among the following, increase in entropy is maximum ?

(A) (g) 2(g) 2(g)
1CO O CO
2

  (B) H2(g) + I2(g)  2HI(g)

(C) CaCO3(s)  CaO(s) + CO2(g) (D) N2(g) + 3H2(g)  2NH3(g)

181. In a process H = 100 KJ and S = 100 JK–1 at 400 K. The value of G will be

(A) 60 KJ (B) 100 KJ

(C) Zero (D) 50 KJ

182. The correct unit for entropy is

(A) KJ mol (B) KJ mol–1

(C) JK–1 mol (D) JK–1 mol–1

183. Which one out of the following is not a state function ?

(A) Work function (B) Work done

(C) Entropy (D) Free energy
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184. Larger number of oxidation states exhibited by actinoids than the corresponding lanthanoids is
due to
(A) Larger atomic size of actinoids than the lanthanoids
(B) Greater reactive nature of the actinoids than the lanthanoids
(C) More energy difference between 5f and 6d orbitals that between 4f and 5f orbitals
(D) Lesser energy difference between 5f and 6d orbitals than between 4f and 6d orbitals than

between 4f and 5f orbitals
185. Acidified solution of chromic acid on treatment H2O2 gives blue color this is due to the formation

of _______
(A) CrO5 + H2O (B) CrO3 + H2O + O2

(C) Cr2O3 + H2O + O2 (D) H2Cr2O7 + H2O + CO2

186. Metallocenes can be prepared by the treatment of cyclopentadiene with metal halides in the
presence of _______
(A) Strong organic acid (B) Strong organic base
(C) Weak organic base (D) Weak organic acid

187. For a given, nickel cadmium battery reaction,
2NiOOH + Cd + 2H2O  2Ni(OH)2 + Ca(OH)2

(discharge / charge)
What occurs during discharge in the nickel-cadmium battery ?
(A) Ni3+ is reduced to Ni2+ (B) Ni2+ is reduced to Ni3+

(C) Ni3+ is oxidized to Ni2+ (D) Ni2+ is oxidized to Ni3+

188. Dichromatory method is useful for the determination of
(A) Chemical oxygen demand (B) Chlorate
(C) Chromium in chromium (III) salt (D) All of the above

189. Which one of the following indicator is used in the determination of bismuth by EDTA direct
titration method ?
(A) Xylenol orange (B) Methyl thymol blue
(C) Eriochrome black–T (D) Solochrome black

190. For EDTA titrations, the analyte solution and the titrant solution are both buffered at the same
pH for the following reasons. Give correct answer.
I.    The conditional formation constant is affected by pH
II. The fraction of EDTA in the fully deprotonated Y4- form varies the pH.
III. When EDTA reacts to form a metal complex H+ is the product in most cases
(A) I and II only (B) I and III only
(C) II and III only (D) I, II and III

191. When sodium chloride is added to a saturated solution of lead (II) chloride, some of the lead (II)
chloride precipitates. This is known as _______
(A) The common ion effect (B) A solubility anomaly
(C) Selective precipitation (D) Super saturation

192. White flue gas coming out of the chimney of a thermal power plant indicates that the fuel used
in the boiler furnace is
(A) Tar (B) Pitch
(C) Coke oven gas (D) Pulverised coke
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193. Chemical formulae of olivine group members is _______
(A) SiO2H2O (B) MgO3

(C) (MgFe)2 SiO4 (D) CaSO47H2O
194. Calc-alkaline plutonic rocks are chiefly composed of :

(A) Quartz and pyroxenes (B) Felspars and micas
(C) Felspars and pyroxenes (D) Flespar and Quartz

195. Electron transfer from Fe(H2O)6
2+ to Fe(H2O)6

3+ is likely to occur via :
(A) SN1 (B) Inner shpere electron transfer
(C) Outer sphere electron transfer (D) d–d transition

196. The correct statement regarding the thermodynamic stability and kinetic reactivity of metal ion
complexes is that :
(A) There exists a dependence on the bulkiness of the ligand
(B) There exists no direct relation between these two phenomenon
(C) Thee exists a dependence on the tiny size of the metal ion
(D) More stable complexes are less reactive

197. Which one of the following complexes is kinetically inert in a solution ?
(A) [Ni(CN)4]2– (B) [Cr(H2O)6]3+

(C) [Cr(H2O)6]2+ (D) [CO(H2O)6]2+

198. In a reaction, the threshold energy is equal to _______
(A) Activation energy + Normal energy of reactants
(B) Activation energy – Norma energy of reactions
(C) Activation energy
(D) Normal energy of reactions

199. Which one of the following complexes shows paramagnetic behaviour ?
(A) [FeCl4]– (B) [FeCN6]4–

(C) [MnO4]– (D) [Cu (1,10 - Phenanthroline)2]+

200. The number of microstates in term 1G is :
(A) 5 (B) 7
(C) 15 (D) 9

201. The correct d–electron configuration showing spin–orbit coupling is :
(A) t6

2g   eg0 (B) t3
2g   eg2

(C) t4
2g   eg0 (D) t4

2g   eg2

202. The orange color of Cr2O7
2- is due to

(A) Change - transfer complex formation
(B) Crystal - field transition
(C) Metal to ligand change transfer transition
(D) Ligand to metal charge transfer transition

203. MnO4
– ion absorbs at 22000 cm–1 and 35000 cm–1 in its UV visible absorption spectrum. The

value at t is _______
(A) 22000 cm–1 (B) 13000 cm–1

(C) 35000 cm–1 (D) 6500 cm–1
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204. In the solid state, the CuCl53– ion has two types of bonds. These are :
(A) Three long and two short (B) Two long and three short
(C) One long and four short (D) Four long and one short

205. For first order reaction, the rate constant K has the unit(s) _______
(A) 1 mol–1 (B) (mol/L)-1 time–1

(C) time–1 (D) time mol–1

206. Beaker A contains 1 gm piece at zinc and beaker B contains 1 gm of powdered zinc. If 100
milliliters of 0.1 M HCl is added to each of the beakers, what will be rate of reaction in beaker A
compared to the rate of reaction in beaker B ?
(A) The rate in A is greater due to the greater surface area at the zinc
(B) The rate in B is greater due to the smaller surface area of the zinc
(C) The rate in B is greater due to the greater surface are of the zinc
(D) The rate in A is greater due to the smaller surface are of the zinc

207. For a first order reaction of the form A  P, t1/2 = 9 hours. If the concentration of A is 0.0013 M
right now, what is the best estimate of what it was the day before yesterday ?
(A) 0.0026 M (B) 0.0052 M
(C) 0.0065 M (D) 0.042 M

208. For a reaction, A  products, a graph (A) versus time is found to be a straight line. What is the
order of this reaction ?
(A) Zero order (B) Second order
(C) First order (D) Third order

209. The reaction 2NO(g)  N2(g) + O2(g) proceeds in a single elementary step. This reaction is thus
_______
(A) Bimolecular (B) Unimolecular
(C) Termolecular (D) Tetramolecular

210. What happens in a steady state ?
(A) Heat is evolved
(B) Product is being formed faster than reactants are regenerated
(C) Concentration of reactant is constant
(D) Concentration of an intermediate is constant

211. A reaction requires 279 minutes in order to reach equilibrium. The concentration of one reactant
changed from 2.13 M to 0.24 M. What is the average rate of the reaction ?
(A) 148 M/min (B) 6.77  10–3 M/min
(C) 2.13 M/min (D) 7.63  10–3 M/min

212. For a certain reaction, a plot of IN(A) versus t gives a straight line with a slop of –1.46 S–1. The
order of the reaction in A is _______
(A) 3 (B) 1
(C) 0 (D) 2

213. The half-life of radioactive sodium is 15.0 hours. How many hours would it take for 64 g sample
to decay to one-eighth of its original concentration ?
(A) 45 (B) 30
(C) 15 (D) 3
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214. Which one of the following pair of metals do not react with HCl(aq) ?
(A) Mg and Fe (B) Zn and Mg
(C) Ag and Zn (D) Ag and Au

215. How many grams of Cu could be produces form CuSO4 by 0.5 faradays of charge ?
(A) 127.0 (B) 15.9
(C) 63.5 (D) 31.75

216. The units of equivalent conductance are _______
(A) ohm–1 cm2 eqvt–1 (B) ohm–1 cm–1 eqvt–1

(C) ohm–1 cm–2 eqvt–1 (D) ohm cm eqvt
217. The cell constant is the ratio of

(A) Specific conductance to area of electrode
(B) Specific conductance to distance between the electrodes
(C) Distance between electrodes to area of electrode
(D) Area of electrode to distance between electrodes

218. The cathodic reaction in electrolysis of dilute sulphuric acid with platinum electrode is known
as
(A) Reduction (B) Neutralization
(C) Oxidation (D) Oxidation and reduction

219. The sample weighing less than 0.001 g is termed as
(A) Macro sample (B) Micro sample
(C) Semi-micro sample (D) Sub-micro sample

220. Instrumental methods like polarography in environmental analysis helps _______
(A) To identify the metal pollutant from knowledge of half wave potential
(B) To render method more sensitive
(C) To analysis at microgram concentration
(D) To rapid analysis of sample

221. Metallochromic indicators are used in analysis of which one of the following ?
(A) FeCl3 against K2Cr2O7 (B) CaCl2 against EDTA
(C) HgCl2 against NaSCN (D) HCl against NaOH

222. HPLC is resorted for the separation of _______
(A) Cationic compounds (B) Non-volatile compounds
(C) Pure compounds (D) Chiral compounds

223. The elution with single eluent is termed as _______
(A) Selectric elution (B) Isocratic elution
(C) Gradient elution (D) Step wise elution

224. Nucleic acids are separated in HPLC with column containing :
(A) Glass leads (B) Bonded silica gel
(C) Porous layer of beads (D) Anion exchange resin

225. According to Valence bond theory, the kind of orbitals overlap to form the P–Cl bonds in PCl5
will be _______
(A) P(SP3) – Cl (P) (B) P(SP3d) – Cl (S)
(C) P(SP3) – Cl (S) (D) P(SP3d) – Cl (P)
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226. A compound with high mass, non volatile and thermally unstable can be the best separated by
technique among :

(A) SFC (B) HPLC

(C) GLC (D) Ion exchange chromatography

227. Raman effect is produced by which one of the following process of spectroscopy ?

(A) Atomic absorption (B) Atomic scattering of radiation

(C) Molecular vibration (D) Atomic emission

228. The source of radiation used in Raman spectroscopy is _______

(A) Tungsten lamp (B) Hollow cathode lamp

(C) Deutrium lamp (D) Junable mercury–neon laser lamp

229. The difference in wave length between incident and scattered visible radiation, corresponds to
wave length is observed in _______

(A) Visible region (B) Infrared region

(C) Microwave region (D) Ultraviolet region

230. Which one of the following shows highest degree of ionisation at 3000°C ?

(A) Sr (B) Ca

(C) Ba (D) Mg

231. During the process of atomisation, emission occur at a stage when electrons in sample is _______

(A) Vaporised (B) Excited

(C) Desolvated (D) Ionised

232. The plasma in ICP–AES consists of :

(A) Positive ions only (B) Electrons only

(C) Neutral molecules only (D) Electrons, positive ions and neutral molecules

233. The transformation of the sample aerosol in plasma undergoes

(A) Desolvation, atomisation, excitation etc (B) Excitation and emission

(C) Atomisation and ionisation (D) Desolvation and vaporisation

234. The linear dynamic range (LDR) represents _______

(A) Optimum measurable concentration (B) Upper limit of measurable concentration

(C) Average level of concentration (D) Smaller measurable concentration

235. Nebuliser is being used in plasma spectroscopy to _______

(A) Spray liquid in the chamber (B) Detect the emitted radiation

(C) Produce plasma (D) Convert liquid to aerosol and generate plasma

236. Secondary beam of X-ray photons is observed in _______

(A) Ultraviolet photoelectron spectroscope (B) Electron spectroscope for chemical analysis

(C) Electron microprobe (D) Secondary ion mass spectroscope

237. The number of photons that pass through a unit area in a unit time is called _______

(A) Intensity of light (B) Frequency of light

(C) Wavelength of light (D) Amplitude of light
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238. The equation of lambert’s law is

(A) 
0ln

I
bx

I
      (B) 

0
ln I cx

I


 
   

(C) 
0

ln I bx
I

 
    (D) 

0
ln I cx

I


 
  

239. One Einstein energy is _______

(A) 5 12.859 10E KJmol


  (B) 5 12.859 10E Kcalmol


 

(C) 5 12.859 10E Kcalmol


   (D) 5 12.859 10E Jmol


  

240. The number of molecules reacted or formed per photon of light absorbed is called _______
(A) Quantum productivity (B) Quantum efficiency
(C) Yield of the reaction (D) Quantum yield

241. In photochemical reactions, the absorption of light takes place in _______
(A) Secondary processes only (B) Primary processes only
(C) Tertiary process only (D) None of the above

242. The analysis of fluoride in presence of anions in water sample is done with
(A) Nephelometer (B) Ion analyser
(C) Fluorimeter (D) Turbidimeter

243. [Cr(H2O)6] Cl3 has magnetic moment of 3.83 B.M. The correct distribution of 3d electrons in the
chromium of the complex is _______
(A) 3d1xy, 3d1yz, 3d1z2 (B) 3d1x2–y2, 3d1z2, 3d1xz
(C) 3d1xz, 3d1x2–y2, 3d1yz (D) 3d1xy, 3d1yz, 3d1xz

244. Back titration of EDTA is used in all of the following conditions except :
a. Insoluble complexes
b. Titrations that require heating
c. Analytes that form inert complexes
d. When no metal ion indicator is available
(A) (b) and (c) (B) (a) and (d)
(C) (c) only (D) (b) only

245. The formal charge of the hexacyano-ferrate is _______
(A) +6 (B) +3
(C) –3 (D) –6

246. Determination of iron (III) and chromium (III) in a mixture by EDTA titration is an example of
(A) Kinetic masking (B) Removal of anion
(C) Selective demasking (D) Solvent extraction

247. Which one of the following does not act as chelating agent ?
(A) Water (B) Ethelene diamine
(C) Tris (2– aminoethyl) amine (D) Ethelene diamine tetra acetic acid

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



ARE - MASTER ] 27 [ P.T.O.

248. On increasing the temperature, the stability of complex will _______

(A) Increase (B) Decrease

(C) No effect (D) Remains same

249. Replacement titration is used for the estimation of _______

(A) Magnesium (B) Zinc

(C) Calcium (D) Neon

250. The silver and gold are titrated by

(A) Disodium ethelene diamine tetracetate (B) Tetracyanonickelate

(C) Sodium thiosulphate (D) Magnesium sulphate

251. Which one of the following is used as the coagulant ?

(A) Dibutyl phthalate (B) Ammonium thiocyanate

(C) Potassium chromate (D) Eosin

252. Which one of the following is a back titration ?

(A) Gay lussac method (B) Adsorption method

(C) Volhard method (D) Mohr method

253. The electrode potentials are calculated by –

(A) Stokes equation (B) Ohm’s law

(C) Nernst equation (D) Ilkovic equation

254. Which one of the following statement is incorrect, regarding potentiometric titrations ?

(A) The emf of cell is zero at the equivalence point

(B) They are suitable for colored or turbid reactions

(C) Liquid junction potentials will not influence the study

(D) These are not suitable for analysis of dilute solutions less than 0.001 M

255. In titration of iodine with sodium thiosulphate, the equivalent weight of sodium thiosulphate is
_______ (Mol wt. is 248)

(A) 248 (B) 24.8

(C) 62 (D) 124

256. Voltametry belongs to the group of electrochemical analysis of_______

(A) Transient methods (B) Controlled potential methods

(C) Charge transfer by migration methods (D) Steady - state methods

257. Select the correct statement regarding glass electrode

(A) Easily influenced by oxidizing and reducing agents

(B) Suitable for analytes with high alkali metal content

(C) It is not poisoned by heavy metals

(D) It can work at temperature down 0°C

258. Which one of the following indicator is suitable for titration of cyanides ?

(A) Eosin (B) Diphenyl carbazide

(C) Fluorescein (D) Dichlorofluorescein
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259. Argentometric titration include, which one of following ?

P.   Direct titration by silver salts

Q.   Back titration of silver salts

R.   Direct titration using silver indicators

S.   Back titration using silver indicators

(A) Q and S (B) P and Q

(C) R and S (D) P and R

260. The sum of all quantum numbers of the electron of hydrogen atom is

(A) +1/2 (B) –1/2

(C) 3/2 (D) 1

261. The standard reduction potentials in volts for pb2+ and Ag+ are –0.13 and +0.80 respectively.
Calculate E0 en volts for a cell in which the overall reaction is

pb + 2Ag+  pb2+ + 2Ag

(A) 1.47 (B) 0.67

(C) 1.73 (D) 0.93

262. Breath analyzers determine alcohol content via the redox reaction :

Cr2O7
2– + C2H5OH  2Cr+3 + C2H4O2

Which substance will be reductant and oxidant respectively ?

(A) C2H5OH, No oxidant (B) Cr3+, C2H5OH

(C) C2H5OH, Cr3+ (D) C2H5OH, Cr2O7
2–

263. The half-reaction that occurs at the cathode during the electrolysis of molten sodium iodide is
_______

(A) Na+ + e–  Na (B) Na  Na+ + e–

(C) I2 + 2e–  2I1– (D) 2I –  I2 + 2e–

264. Identify the potential energy from the following schrodinger equation

2 2
2

2
8 2 0m eE

vh
 

 
     

(A) 
22e

v


(B) 
22e

v


(C) 
2

2
8 m

h


(D) E

265. The resistance of 0.01 M CH3COOH solution is found to be 2220 ohm, measure in a cell of cell
constant 0.366 cm–1.

0
m (H+) and 0

m (CH3COO–) is 349.1 and 40.9 S cm2 mol–1 calculate degree of dissociation?

(A) 0.0422 (B) 16.48

(C) 0.001648 (D) 390.0
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266. In Ostwald’s process for the manufacturing of nitric acid, the first step involves the oxidation of
ammonia gas by oxygen gas to give nitric oxide gas and steam. What will be the maximum
weight of nitric oxide that can be obtained starting only with 10.0 g of ammonia and 20.0 g of
oxygen ?
4NH3(g) + 5O2(g)  4NO(g) + 6H2O(g)

(A) 15.0 g (B) 20.0 g
(C) 10.0 g (D) 25.0 g

267. The correct statement for “polarisation is the distortion of the shape on anion by the cation” is
_______
(A) Minimum polarisation is done by a cation of small size
(B) A smaller anion is likely to undergo a high degree of polarisation
(C) A large cation is likely to bring large degree of polarisation
(D) Maximum polarisation is done by a cation of high charge

268. The complex entities [COF6]3– and [CO(NH3)6]3+ differ from each in
(A) Geometry and magnetic moment (B) Geometry only
(C) Magnetic moment and color (D) Geometry and hybrid state of CO

269. In ferrocene, the number of unpaired electrons and the hybrid state of iron are _______
respectively.
(A) 0, d2sp3 (B) 2, dsp2

(C) 4 sp3d2 (D) 5, sp3d2

270. The neutral binary complexes formed by metal and carbon monoxide legands which are
collectively called _______
(A) Polynuclear complex (B) Polycarboxy complex
(C) Homoleptic carbonyls (D) Heteroleptic carbonyls

271. The number of outer electrons in azide ion will be _______
(A) 12 (B) 10
(C) 08 (D) 16

272. The Hall-Heroult process is used in the production of _______
(A) Al (B) Au
(C) Mg (D) Fe

273. Which one of the following statements associated with batteries is incorrect ?
(A) Secondary batteries are rechargable
(B) Electrodes with greater surface area give a greater potential
(C) The cell reaction in a primary battery is not reversible
(D) In a dry cell, the reaction Zn  2n2+ continues to occur even when the battery is not being

used
274. White phosphorous on reaction with NaOH gives PH3 as one of the product. This is called _______

(A) Disproportionation reaction (B) Precipitaion reaction
(C) Dimerization reaction (D) Condensation reaction

275. Which of the following metals are purified by electrolytic refining procedure ?
(A) Cu and Zn (B) Ge and Si
(C) Zr and Ti (D) Zn and Hg

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



ARE - MASTER ] 30 [ Contd.

276. Correct statement for the acidic-basic behaviour of transition metal hydride complexes is _______
(A) The basic character of transition metal hydride complexes depends upon the extent of

dissociation
(B) Bridging hydrides are more basic than terminal hydrides
(C) The acidic character of transition metal hydride complexes depends upon the nature of

solvent
(D) The basic character of transition metal hydride complexes depends upon the nature of solvent

277. Magnesium chloride and silver nitrate solutions are mixed. Given that a precipitation reaction
occurs, the precipitates will be of _______
(A) MgCl2 (B) Mg(NO3)2

(C) AgCl (D) AgNO3

278. Sodium nitrate can not be analysed gravimetrically because _______
(A) All compounds containing sodium ions or nitrate ions are soluble
(B) Sodium nitrate is an inert substance
(C) Sodium nitrate is insoluble
(D) The stability of sodium nitrate is very low

279. Gun metal is a mixture of mainly _______
(A) 90% Cu and 10% Sn (B) 90% Cu and 10% Al
(C) 90% Cu and 10% Sb (D) 90% Cu and 10% As

280. _______ is the formulae of phenyl arsonic acid
(A) C6H5AsO(OH)2 (B) C6H5AsO(OH)3

(C) C6H5AsO(OH)4 (D) C6H5AsOH
281. Which one of the following oxide has maximum negative heat of formation per oxygen atom ?

(A) P4O10 (B) Al2O3

(C) Na2O (D) MgO
282. Find the successive elements of the periodic table with ionisation energies 2372, 520 and 890 KJ

per mole respectively.
(A) Li, Be, B (B) H, He, Li
(C) B, C, N (D) He, Li, Be

283. For weak acid and strong base titration of ordinary laboratory temperature, the pH of the
equivalence point is calculated by _______

(A) 
1 1 1
2 2 2w b cpH PK PK P   (B) 

1 1 1
2 2 2w a cpH PK PK P  

(C) 
1 1 1
2 2 2w a bpH PK PK PK   (D) 

1 1 1
2 2 2w b cpH PK PK P  

284. Determine the correct molecular geometry (from left to right) about each interior atom in
CH3CH2OH
(A) 1st C is tetrahedral, 2nd C trigonal planer and O, linear
(B)  1st C is trigonal planer,  2nd C bent and O linear
(C)  1st C is trigonal planer,  2nd C trigonal pyramidal, and O bent
(D)  1st C is tetrahedral,  2nd C tetrahedral and O bent
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285. In the determination of chloride as silver chloride by gravimetric method, the aqueous solution
of the chloride is acidified with diluted _______ in order to prevent the precipitation of other
silver salts, such as the phosphates and carbonates
(A) H3PO4 (B) H2SO4

(C) HCl (D) HNO3

286. Composition of glasses for cation -sensitive glass electrodes for the determination of Na+ and
Ag+ contains _______
(A) Li2O 15%, Al2O3 25%, SiO2 60% (B) Na2O 15%, Al2O3 25%, SiO2 60%
(C) Na2O 11%, Al2O3 18%, SiO2 71% (D) Na2O 27%, Al2O3 5%, SiO2 68%

287. Root mean square (RMS) velocity of ethane at 27°C and 720 nm of Hg pressure is _______
(A) 4.99  104 cms–1 (B) 4.83  104 cms–1

(C) 4.53  104 cms–1 (D) 4.11  104 cms–1

288. Following are the characteristics of mass spectrometry
I.   Analyte molecules are converted to gaseous ions
II. The ions are separated according to their mass to charge ratio
III. The addition of compound identification mass spectra can be utilized to determine precise
isotopic masses and isotopic ratios.
The correct answer will be.
(A) II only (B) I and III
(C) II and III (D) I, II and III

289. The force constant of four diatomic molecules are given below.

Molecule F2 HCl CO N2 

K/N m–1 450 510 1860 2240
Highest vibrational wave number will be of _______
(A) F2 (B) N2

(C) HCl (D) CO
290. For a reaction H = – 28 KJ and S = – 60 J/K.

At what temperature it will change from spontaneous to non spontaneous ?
(A) 46.7 (B) 467
(C) 50 (D) 500

291. Standard free energy change for a gaseous reaction is 71.128 KJ. The equilibrium constant of a
reaction at 2000 K will be _______ (R = 8.314 JK–1 mol–1)
(A) 0.0320 (B) 0.3200
(C) 0.1390 (D) 0.0139

292. According to 31st March 2018 analysis the highest Coal reserve state of India is_______
(A) Assam (B) Jharkhand
(C) Orissa (D) West Bengal

293. Which one of the following pairs of reagents are used for the determination of available chlorine
in hypochlorites by volumetrically ?
(A) Sodium thiosulphate + Iodine solution (B) Sodium thiosulphate + Potassium iodate
(C) Sodium thiosulphate + Potassium iodide (D) Sodium thiosulphate + Sodium iodate
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294. Determination of moisture in coke, by the minimum free-space oven method involves heating a
period of 4 hours with in the temperature range of _______
(A) 108  2° C (B) 200  5° C
(C) 158  2° C (D) 300  5° C

295. In the determination of amount of calcium and lead in a mixed solution by EDTA titration
method with methylthymol blue indicator. In which lead is titrated at a pH of _______ without
interference of calcium and calcium is subsequently titrated at pH _______ respectively.
(A) 1-2, 6 (B) 12, 6
(C) 6, 12 (D) 6, 1-2

296. The study of rocks in the laboratory as hand specimens with a view to analyse and discuss their
texture, mineral composition and chemical composition is known as _______
(A) Petrography (B) Hydrogeology
(C) Pedology (D) Aquageology

297. Presence of free moisture in coal during its high temperature carbonisation _______
(A) Increases the loss of fine coal dust form the ovens when charging
(B) Reduces the coking time
(C) Decrease the burning temperature
(D) Protects the volatile products from pyrolysis (cracking) in the presence of hot coke and hot

oven walls
298. Rocks which are formed from weathering products of pre-existing rocks deposited near earth’s

surface are called –
(A) Sedimentary rocks (B) Metamorphic rocks
(C) Igneous rocks (D) Falspars rocks

299. Which one of the following element is used in cryoscopy to obtain very low temperature ?
(A) C (B) Li
(C) B (D) He

300. The time dependent schrodinger’s equation of a system represents the conservation of _______
(A) Total energy of the system (B) Total binding energy of the system
(C) Total potential energy of the system (D) Total kinetic energy of the system
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